Name: Class: Date: ID: A

FMPC 10 - Ch. 2 Test - Polynomials PRACTICE TEST /25

Multiple Choice
Identify the choice that best completes the statement or answers the question. You MUST show all of your work for each

question.

1. Identify the greatest common factor of the terms in the trinomial 65’1 + 125 — 155°F.

a. 65°f c. 3s°F g 0? 6 SN 15 8 — 3
357 d. 35’7 z
61364,51 —_—) g

B —e

2. Factor the binomial 15y° — 48y. g.ck. ﬂf 15 and 49"{5 %
of \lzqwc\ YALERY
a. 35y —16y) c. p(15y—48) _
b. 3y(5y—16y) @ 3v(5v-16) [5\/2"497" 3y ([”‘/‘LQ

3. Which expression represents the area of the shaded region?

Atea of shaded (eojon = Area of SqUAaKe - Acen of civcle

= Jr«Zr- Tt
~ 4rt-Tret
= 2 (4-)

a. 2rQ2r—n) b. r(1-7) @ r(4-n) d. r(r-2m



Name:

b 4. Factor 3x° +x —4 completely
a. (3x-4)(x+1) c. (Bx-1)x+4)

(3xH4)(x-1) d. (B3x+1)(x-4)

AC METHOD . _ (3)(_(,4)(%,:[)
XX~ 12

(x+4) (¢-3)

b 5. Expand and simplify: (6p +3)(5p — 6)
a. 30p>+2Ip-18 c. 30p*+51p—18

30p2 —21p— 18 d. 30p’-Sip—18
v

(7\
6?%@‘1 6) = 20p™-Bbp + 55~ (9 = 30,*-2(p-18
150 ¢ Ll

L

C 6. Expand and simplify: (5m - 3n)’
a. 25m’ -9n’
b. 25m" — 15mn + 9’

(’fm ‘7/"01’ <5m’3“>(5m»?h§ < %6m - 15mn -15mn + Ant

25m* — 30mn + 9n*
d. 25m’ +9n°

C 7. Expand and simplify: (4d — 1)(5d* +12d - 3)
a. 20d’ +53d* +3
b. 20d’ +484* —12d +3

(44-\) (545124 -2) = 704 %+ 48 4% 124~ 54+ - 114+

20d°® +43d* —24d +3
d. 20d® +43d* +3

A 8. Factor: 16p” —81q°
a. (4p-9g) c. (16p-99)(p —99)

b. (4p+9g)’ (4p +94)(4p —99)
fiffecence of squares  a'-b"= (@+b) (a-b)
" 16y 8lg* = (ko) ~(%a) = (4p+4g) (4p-a)



Name: ID: A

by
Loeich
9. Factor: 25¢> —20c +4 mSF wh (5_(_ 2) (5C Z) o Aliwc—%m\ﬂ- Cl-ZOC’FIOO
Pl 9 1n
yior k bools (C '\O) (C"IO>
(c- LQ) (c- t_o)
(5¢—2)? c. (10c—4)°
b. (5c—2)(5¢+2) d. (10c —4)(10c +4) (¢~ 7_ (c >
Short Answer = (€>’C Z) C-Sc 2_>
10. Factor using the AC Method or by Grouping: 3x” +8x +4 (3 marks)
YEax+ |2 ‘/ \“‘ %\d‘ors o-\: Zx4 thathave a sum = +8  ave t6 v
()(4— 6) (x+2) . rewrite ag
6 2 Zx Tt bx +Zx+ 4
(e "Z> (x4 ?>

9roup- - ( x +67<) (2%#‘% |
fackr 3¢ (x4 2)+ 2(x2) = 1(><+2) (5><+2>}

= (x+2) (5><+2§'

11. Expand and simplify: (x —4)°
(X-4) (%-4) (x-4) = (4) (X ax -4t 16) = (£-4) (=Bxt1b)
- 8x e 16x — 4x T+ 32X ~ 64 = fﬂ- [2x%+ 4gx-64 ]

12. Factor: 1> + 91— 36

- (t+12) (t-?,)

13. Factor: v —13v+36

- (4-9) (-4

14. Factor: =24 — 5x +x*

"

= Y& 5x-724

B (x—g\ (x +%>



Name:

15. Factor using the AC Method or by Grouping::
30n*-20n-10
10(%n2-2n-1)
| ni'__j'n__gqﬁ) = 1o(n-1)(Zn-1)
Cﬂ - ?z> (4 N
(%) (n-5) |
16. Factor: 49s” — 641

diﬁﬁrfnu 055» szma‘re: = C;f,;{)’z; &? Q

17. Determine the area of the shaded region.

2x+7

Problem

10—20m + 30n°.

= 7_)>(Z+ ZHxX +

(3 marks)

@t 4) (x4 7) - (x-6)(x-5)
AP Akt 4wt 49 = (X255 25)

AxT+28x+ 44 - X+ (DX - 715

18.  Write a polynomial to represent the area of this rectangle. Simplity the polynomial.

6x + By

4x — 3y

(é)H 6y> (le - ’5\/)
2hxt-1@xy + Lhxy - 18y*

19. Find an integer to replace 0 so that x> +[Jx — 30 can be factored.

How many integers can you find?
_FACTORS of -0 sum__

| =320 - 79

7 50 24

Y -1

-2 5 13

7 ~1o -1 4
‘7_) lO 7’

5 76 o
5 b

8 M"@er <

(3 marks)

ID:

N c(’: A 9{3 (7, i 181>



